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(6) () The standard deviation s so big that there are only 22 65 _ 1083 standard deviations
above zero.
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—0.8599
.14 at time = 0 minutes

This means that there is a probability of 0.14 of negative times, which are impossible.
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image9.png
9. u=60g0=15g
(i) x=45g

Standard unitz =

XoH_45-60_-15_
5 5
P<45g) =PZ=—1)=PZ>1)
=n-pz=1)
=1-08413 = 0.1587
(i) P(x < 58 ) from a sample of 50.

e 60_ -2 __
Standard unitz =X £ = 3860 2o~ 004
i =

P(x < 58) = PZ < —0.94) = P(Z > 0.94)

1 - Plz=094)]
1-08264 = 01736





image10.png
Plx < 45 g (smal) = 0.1587
= Plxmedium or large) = 1 - 0.1587 = 0.8413

08413 _

Equal probabilities = = 04206 in each group.

2

= P(xsmall or medium)
Plz)=05793 =z=02

Standard unitz = <&

= x=02(15+60=63g

10, p=352

=350 =088 ie.88%
1o

() Margin of error = 7= =t = 0.05

1
n
=088 005<p<088+005

083<p<093

83% < p < 93%
Hy:There is no difference in opinion between Cork and Dublin
Hy:The is a difference in opinion between Cork and Dublin

ion. p — 810

Sample proportion, p = S0 = 081
81%
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‘The company's claim in not justified at the 95% confidence level as 819 (the Dublin
population proportion) is not within the confidence limits, so we reject the null Hypothesis
and accept their claim is not justified, and there is a difference in opinion between Cork and
Dublin samples.
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(i) Since p > 0.05 we accept the null hypothesis that « = 500 g. The result is not significant, the
‘mean weight has not changed.
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(i) Since p > 0.05 we accept the null hypothesis that 1 = 500 g. The result s not significant, the
‘mean weight has not changed. 4
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